

## **Reformulated F-index of graph operations**

Hamideh Aram<sup>1\*</sup> and Nasrin Dehgardi<sup>2</sup>

<sup>1</sup>Department of Mathematics Gareziaeddin Center, Khoy Branch, Islamic Azad University, Khoy, Iran hamideh.aram@gmail.com

> <sup>2</sup>Department of Mathematics and Computer Science Sirjan University of Technology, Sirjan, Iran n.dehgardi@sirjantech.ac.ir

Received: 18 March 2017; Accepted: 24 June 2017 Published Online: 2 July 2017

Communicated by Ivan Gutman

**Abstract:** The first general Zagreb index is defined as  $M_1^{\lambda}(G) = \sum_{v \in V(G)} d_G(v)^{\lambda}$ where  $\lambda \in \mathbb{R} - \{0, 1\}$ . The case  $\lambda = 3$ , is called F-index. Similarly, reformulated first general Zagreb index is defined in terms of edge-drees as  $EM_1^{\lambda}(G) = \sum_{e \in E(G)} d_G(e)^{\lambda}$ and the reformulated F-index is  $RF(G) = \sum_{e \in E(G)} d_G(e)^3$ . In this paper, we compute the reformulated F-index for some graph operations.

Keywords: First general Zagreb index, reformulated first general Zagreb index, F-index, reformulated F-index.

AMS Subject classification: 05C12, 05C07

### 1. Introduction

We follow Bondy and Murty [3] for terminology and notation not defined here and consider finite simple connected graphs only. In 1972, Gutman and Trinajstić [7] explored the study of total  $\pi$ -electron energy on the molecular structure and introduced a vertex degree-based graph invariants. These invariants are defined as

$$M_1(G) = \sum_{v \in V(G)} d_G(v)^2 = \sum_{uv \in E(G)} (d_G(u) + d_G(v))$$

© 2017 Azarbaijan Shahid Madani University. All rights reserved.

<sup>\*</sup> Corresponding Author

and

$$M_2(G) = \sum_{uv \in E(G)} (d_G(u).d_G(v)).$$

In the same paper, where first Zagreb index was introduced, Gutman and Trinajstić indicated that another term of the form  $\sum_{v \in V(G)} d_G(v)^3$  influences the total  $\varphi$ -electron energy. But this remained unstudied by the researchers for a long time, except for a few occasions [8, 9, 12] until publication of an article by Furtula and Gutman in 2015 and so they named it forgotten topological index or F-index in short [6]. Thus F-index of a graph G is defined as

$$F(G) = \sum_{v \in V(G)} d_G(v)^3 = \sum_{uv \in E(G)} (d_G(u)^2 + d_G(v)^2).$$

In 2004, Miličević et al. [13] reformulated first Zagreb index in terms of edge degrees instead of vertex degrees, where the degree of an edge e = uv is defined as  $d_G(e) = d_G(u) + d_G(v) - 2$ . Thus, the reformulated first Zagreb index of a graph G is defined as

$$EM_1(G) = \sum_{e \in E(G)} d_G(e)^2.$$

In 2004 and 2005, Li et al. [9, 12] introduced the concept of the first general Zagreb index  $M_1^{\lambda}(G)$  of G as follows:

$$M_1^{\lambda}(G) = \sum_{v \in V(G)} d_G(v)^{\lambda} = \sum_{e=uv \in E(G)} d_G(u)^{\lambda-1} + d_G(v)^{\lambda-1} \quad \text{for } \lambda \in \mathbb{R} - \{0, 1\}.$$

The reformulated version of the general first Zagreb index is defined as

$$EM_1^{\lambda}(G) = \sum_{e \in E(G)} d_G(e)^{\lambda} \quad \text{for } \lambda \in \mathbb{R} - \{0, 1\}.$$

For the special case  $\lambda = 3$ , RF(G) is called reformulated F-index. Graph operations play an important role in chemical graph theory. Some chemically important graphs can be obtained from some graphs by different graph operations, such as some nanotorus or Hamming graph, that is Cartesian product of complete graphs. Many authors computed some indices for some graph operations (see, for instance [2, 4, 5, 10, 11] and the references cited therein).

We [1] defined and studied the general Zagreb coindices for  $\lambda \in \mathbb{R}$  as

$$\overline{M_1}^{\lambda}(G) = \sum_{uv \notin E(G)} (d_G(u)^{\lambda-1} + d_G(v)^{\lambda-1})$$

and

$$\overline{M_2}^{\lambda}(G) = \sum_{uv \notin E(G)} (d_G(u)^{\lambda} d_G(v)^{\lambda}).$$

In this paper, we compute the reformulated F-index for some graph operations.

## 2. The join of graphs

The join G + H of graphs G and H with disjoint vertex sets V(G) and V(H) and edge sets E(G) and E(H) is the graph union  $G \cup H$  together with all the edges between V(G) and V(H). Obviously, |V(G + H)| = |V(G)| + |V(H)| and |E(G + H)| = |E(G)| + |E(H)| + |V(G)||V(H)|.

**Theorem 1.** Let  $G_i$  be a graph of order  $n_i$  and size  $m_i$  for i = 1, 2. Then

$$\begin{aligned} RF(G_1+G_2) &= RF(G_1) + RF(G_2) + 7n_2F(G_1) + 7n_1F(G_2) + 12n_2M_2(G_1) + \\ &\quad 12n_1M_2(G_2) + 3(5n_2^2 - 10n_2 + 2m_2 + n_1n_2)M_1(G_1) + \\ &\quad 3(5n_1^2 - 10n_1 + 2m_1 + n_1n_2)M_1(G_2) + (8n_2^3 - 24n_2^2 + 24n_2)m_1 + \\ &\quad (8n_1^3 - 24n_1^2 + 24n_1)m_2 + n_1n_2(n_1 + n_2 - 2)^3 + \\ &\quad 24m_1m_2(n_1 + n_2 - 2) + (6m_1n_2 + 6n_1m_2)(n_1 + n_2 - 2)^2. \end{aligned}$$

*Proof.* By definition,

$$RF(G_1 + G_2) = \sum_{e=uv \in E(G_1 + G_2)} (d_{G_1 + G_2}(e))^3.$$

We partition the edge set of  $G_1 + G_2$  into three subsets  $E_1 = E(G_1), E_2 = E(G_2)$ and  $E_3 = \{e = uv \mid u \in V(G_1), v \in V(G_2)\}$ . For any vertex  $v \in V(G_1)$ , we have  $d_{G_1+G_2}(v) = d_{G_1}(v) + n_2$  and for each vertex  $u \in V(G_2)$  we have  $d_{G_1+G_2}(u) = d_{G_2}(u) + n_1$ . It follows that

$$\sum_{uv \in E_1} (d_{G_1+G_2}(uv))^3 = \sum_{uv \in E_1} (d_{G_1}(u) + d_{G_1}(v) - 2 + 2n_2)^3$$
  

$$= \sum_{uv \in E_1} (d_{G_1}(u) + d_{G_1}(v) - 2)^3 + \sum_{uv \in E_1} 6n_2(d_{G_1}(u) + d_{G_1}(v) - 2)^2 + \sum_{uv \in E_1} 12n_2^2(d_{G_1}(u) + d_{G_1}(v) - 2) + \sum_{uv \in E_1} 8n_2^3$$
  

$$= RF(G_1) + 6n_2F(G_1) + 12n_2M_2(G_1) + (12n_2^2 - 24n_2)M_1(G_1) + 8m_1(n_2^3 - 3n_2^2 + 3n_2), \quad (1)$$

and

$$\sum_{e \in E_2} (d_{G_1+G_2}(e))^3 = RF(G_2) + 6n_1F(G_2) + 12n_1M_2(G_2) + (12n_1^2 - 24n_1)M_1(G_2) + 8m_2(n_1^3 - 3n_1^2 + 3n_1).$$
(2)

If  $e = uv \in E_3$  where  $u \in V(G_1)$  and  $v \in V(G_2)$ , then we have

$$\sum_{uv \in E_3} (d_{G_1+G_2}(uv))^3 = \sum_{u \in V(G_1), v \in V(G_2)} (d_{G_1}(u) + d_{G_2}(v) + n_1 + n_2 - 2)^3$$

$$= \sum_{u \in V(G_1)} \sum_{v \in V(G_2)} (d_{G_1}(u) + d_{G_2}(v))^3 + \sum_{u \in V(G_1)} \sum_{v \in V(G_2)} 3(d_{G_1}(u) + d_{G_2}(v))^2 (n_1 + n_2 - 2) + \sum_{u \in V(G_1)} \sum_{v \in V(G_2)} 3(d_{G_1}(u) + d_{G_2}(v))(n_1 + n_2 - 2)^2$$

$$= n_2 F(G_1) + n_1 F(G_2) + 6m_2 M_1(G_1) + 6m_1 M_1(G_2) + n_1 n_2 (n_1 + n_2 - 2)^3 + 3n_2 (n_1 + n_2 - 2) M_1(G_1) + 3n_1 (n_1 + n_2 - 2) M_1(G_2) + 24m_1 m_2 (n_1 + n_2 - 2) + (6m_1 n_2 + 6n_1 m_2)(n_1 + n_2 - 2)^2.$$
(3)

We conclude from Equations (1), (2) and (3) that

$$\begin{aligned} RF(G_1+G_2) &= RF(G_1) + RF(G_2) + 7n_2F(G_1) + 7n_1F(G_2) + 12n_2M_2(G_1) + \\ &\quad 12n_1M_2(G_2) + 3(5n_2^2 - 10n_2 + 2m_2 + n_1n_2)M_1(G_1) + \\ &\quad 3(5n_1^2 - 10n_1 + 2m_1 + n_1n_2)M_1(G_2) + (8n_2^3 - 24n_2^2 + 24n_2)m_1 + \\ &\quad (8n_1^3 - 24n_1^2 + 24n_1)m_2 + n_1n_2(n_1 + n_2 - 2)^3 + \\ &\quad 24m_1m_2(n_1 + n_2 - 2) + (6m_1n_2 + 6n_1m_2)(n_1 + n_2 - 2)^2. \end{aligned}$$

#### 3. The corona product of graphs

The corona product  $G \circ H$  of graphs G and H with disjoint vertex sets V(G) and V(H) and edge sets E(G) and E(H) is the graph obtained by one copy of G and |V(G)| copies of H and joining the *i*-th vertex of G to every vertex in *i*-th copy of H. Obviously,  $|V(G \circ H)| = |V(G)| + |V(G)||V(H)|$  and  $|E(G \circ H)| = |E(G)| + |V(G)||E(H)| + |V(G)||V(H)|$ .

**Theorem 2.** If  $G_i$  is a graph of order  $n_i$  and of size  $m_i$  for i = 1, 2, then

$$RF(G_1 \circ G_2) = RF(G_1) + 7n_2F(G_1) + n_1F(G_2) + 12n_2M_2(G_1) + (15n_2^2 - 27n_2 + 6m_2)M_1(G_1) + n_1RF(G_2) + 6n_1EM_1(G_2) + 12n_1(M_1(G_2) - 16m_2) + (3n_1(n_2 - 1) + 6m_1)M_1(G_2) + 24m_1m_2(n_2 - 1) + (6m_1n_2 + 6n_1m_2)(n_2 - 1)^2.$$

*Proof.* Suppose  $V(G_1) = \{v_1, \ldots, v_{n_1}\}$  and  $V(G_2) = \{u_1, \ldots, u_{n_2}\}$ . Let  $E_1 = E(G_1), E_2^i = E(G_2^i)$  and  $E_3^i = \{v_i u_j \mid 1 \le j \le n_2\}$  for  $1 \le i \le n_1$ . Then  $E(G_1 \circ G_2) = E_1 \cup (\bigcup_{i=1}^{n_1} E_2^i) \cup (\bigcup_{i=1}^{n_1} E_3^i)$  is a partition of  $E(G_1 \circ G_2)$ . Using an argument similar to that described in the proof of Theorem 1, we have

$$\sum_{e \in E_1} (d_{G_1 \circ G_2}(uv))^3 = RF(G_1) + 6n_2F(G_1) + 12n_2M_2(G_1) + (12n_2^2 - 24n_2)M_1(G_1) + 8m_1(n_2^3 - 3n_2^2 + 3n_2).$$
(4)

For any edge  $uv \in E_2^i$ , we have  $d_{G_1 \circ G_2}(uv) = d_{G_2}(u) + d_{G_2}(v)$  and hence

$$\sum_{i=1}^{n_1} \sum_{uv \in E_2^i} (d_{G_1 \circ G_2}(uv))^3 = \sum_{i=1}^{n_1} \sum_{uv \in E_2^i} (d_{G_2}(u) + d_{G_2}(v) - 2 + 2)^3$$

$$= \sum_{i=1}^{n_1} \sum_{uv \in E_2^i} (d_{G_2}(u) + d_{G_2}(v) - 2)^3 + \sum_{i=1}^{n_1} \sum_{uv \in E_2^i} 6(d_{G_2}(u) + d_{G_2}(v) - 2)^2 + \sum_{i=1}^{n_1} \sum_{uv \in E_2^i} 12(d_{G_2}(u) + d_{G_2}(v) - 2) + \sum_{i=1}^{n_1} \sum_{uv \in E_2^i} 8$$

$$= n_1 RF(G_2) + 6n_1 EM_1(G_2) + 12n_1(M_1(G_2) - 16m_2). \quad (5)$$

On the other hand, we have

$$\sum_{i=1}^{n_1} \sum_{uv \in E_3^i} (d_{G_1 \circ G_2}(uv))^3 = \sum_{i=1}^{n_1} \sum_{j=1}^{n_2} (d_{G_1 \circ G_2}(v_i u_j))^3$$

$$= \sum_{i=1}^{n_1} \sum_{j=1}^{n_2} (d_{G_1}(v_i) + d_{G_2}(u_j) + n_2 - 1)^3$$

$$= \sum_{i=1}^{n_1} \sum_{j=1}^{n_2} (d_{G_1}(v_i) + d_{G_2}(u_j))^3 + \sum_{u \in V(G_1)} \sum_{v \in V(G_2)} (n_2 - 1)^3 + \sum_{u \in V(G_1)} \sum_{v \in V(G_2)} 3(d_{G_1}(v_i) + d_{G_2}(u_j))^2 (n_2 - 1) + \sum_{u \in V(G_1)} \sum_{v \in V(G_2)} 3(d_{G_1}(v_i) + d_{G_2}(u_j)) (n_2 - 1)^2$$

$$= n_2 F(G_1) + n_1 F(G_2) + 6m_2 M_1(G_1) + 6m_1 M_1(G_2) + n_1 n_2 (n_2 - 1)^3 + 3n_2 (n_2 - 1) M_1(G_1) + 3n_1 (n_2 - 1) M_1(G_2) + 24m_1 m_2 (n_2 - 1)^2.$$
(6)

Summing up the Equalities (4), (5) and (6) we obtain,

$$RF(G_1 \circ G_2) = RF(G_1) + 7n_2F(G_1) + n_1F(G_2) + 12n_2M_2(G_1) + (15n_2^2 - 27n_2 + 6m_2)M_1(G_1) + n_1RF(G_2) + 6n_1EM_1(G_2) + 12n_1(M_1(G_2) - 16m_2) + (3n_1(n_2 - 1) + 6m_1)M_1(G_2) + 24m_1m_2(n_2 - 1) + (6m_1n_2 + 6n_1m_2)(n_2 - 1)^2.$$

## 4. The Cartesian product of graphs

The Cartesian product  $G \times H$  of graphs G and H has the vertex set  $V(G \times H) = V(G) \times V(H)$  and (u, x)(v, y) is an edge of  $G \times H$  if  $uv \in E(G)$  and x = y, or u = v and  $xy \in E(H)$ . Obviously,  $|V(G \times H)| = |V(G)||V(H)|$  and  $|E(G \times H)| = |E(G)||V(H)| + |V(G)||E(H)|$ . If  $G_1, G_2, \ldots, G_n$  are arbitrary graphs, then we denote  $G_1 \times \cdots \times G_n$  by  $\bigotimes_{i=1}^n G_i$ .

**Lemma 1.** (M.H. Khalifeh et al. [11]) Let  $G_1 = (V_1, E_1), \ldots, G_n = (V_n, E_n)$  be graphs and let  $G = \bigotimes_{i=1}^n G_i$  and  $V = V(\bigotimes_{i=1}^n G_i)$ . Then

$$M_1(\bigotimes_{i=1}^n G_i) = |V| \sum_{i=1}^n \frac{M_1(G_i)}{|V_i|} + 4|V| \sum_{i \neq j, i, j=1}^n \frac{|E_i||E_j|}{|V_i||V_j|}$$

In particular,  $M_1(G^n) = n|V(G)|^{n-2}(M_1(G)|V(G)| + 4(n-1)|E(G)|^2).$ 

**Lemma 2.** (M.H. Khalifeh et al. [11]) Let  $G_1 = (V_1, E_1), \ldots, G_n = (V_n, E_n)$  be graphs and let  $G = \bigotimes_{i=1}^n G_i, V = V(\bigotimes_{i=1}^n G_i)$  and  $E = E(\bigotimes_{i=1}^n G_i)$ . Then

$$M_2(\bigotimes_{i=1}^n G_i) = |V| \sum_{i=1}^n \frac{M_2(G_i)}{|V_i|} + 3M_1(G_i) \left(\frac{|E|}{|V_i|} - \frac{|V||E_i|}{|V_i|^2}\right) + 4|V| \sum_{\substack{i,j,k=1, i\neq j, i\neq k, j\neq k}}^n \frac{|E_i||E_j||E_k|}{|V_i||V_j||V_k|}.$$

In particular,

$$M_2(G^n) = n|V(G)|^{n-3}(|V(G)|^2M_2(G) + 3(n-1)|E(G)||V(G)|M_1(G) + 4(n-1)(n-2)|E(G)|^3).$$

**Lemma 3.** (De Dilanjan et al. []) Let  $G_1 = (V_1, E_1), \ldots, G_n = (V_n, E_n)$  be graphs and let  $G = \bigotimes_{i=1}^n G_i, V = V(\bigotimes_{i=1}^n G_i)$  and  $E = E(\bigotimes_{i=1}^n G_i)$ . Then

$$F(\otimes_{i=1}^{n}G_{i}) = |V| \sum_{i=1}^{n} \frac{M_{1}(G_{i})}{|V_{i}|} + 4n \sum_{i,j=1, i \neq j}^{n} \frac{|E(G_{i})|}{|V(G_{j})|} \cdot \frac{|E(G_{j})|}{|V(G_{j})|}$$

Now we determine the reformulated F-index of the Cartesian product of graphs.

**Theorem 3.** Let  $G_i$  be a graph of order  $n_i$  and size  $m_i$  for i = 1, 2. Then

$$RF(G_1 \times G_2) = n_1 RF(G_2) + n_2 RF(G_1) + 12(m_2 E M_1(G_1) + m_1 E M_1(G_2)) + 24M_1(G_2)M_1(G_1) - 24(m_1 M_1(G_2) + m_2 M_1(G_1)) + 8(m_1 F(G_2) + m_2 F(G_1)).$$

*Proof.* Suppose  $V(G_1) = \{u_1, \ldots, u_{n_1}\}$  and  $V(G_2) = \{v_1, \ldots, v_{n_2}\}$ . Set  $E_i = \{(u, v_i)(v, v_i) \mid uv \in E(G_1)\}$  for  $1 \le i \le n_2$  and  $L_j = \{(u_j, x)(u_j, y) \mid xy \in E(G_2)\}$  for  $1 \le j \le n_1$ . Clearly  $(\bigcup_{i=1}^{n_2} E_i) \cup (\bigcup_{j=1}^{n_1} L_j)$  is a partition of  $V(G_1 \times G_2)$ . Since  $d_{G_1 \times G_2}(u_i, v_j) = d_{G_1}(u_i) + d_{G_2}(v_j)$  for each i, j, we have

$$\sum_{i=1}^{n_2} \sum_{uv \in E(G_1)} (d_{G_1 \times G_2}((u, v_i)(v, v_i)))^3 = \sum_{i=1}^{n_2} \sum_{uv \in E(G_1)} (d_{G_1}(u) + d_{G_1}(v) - 2 + 2d_{G_2}(v_i))^3$$

$$= \sum_{i=1}^{n_2} \sum_{uv \in E(G_1)} (d_{G_1}(u) + d_{G_1}(v) - 2)^2 d_{G_2}(v_i) + \sum_{i=1}^{n_2} \sum_{uv \in E(G_1)} 5(d_{G_1}(u) + d_{G_1}(v) - 2)d_{G_2}^2(v_i) + \sum_{i=1}^{n_2} \sum_{uv \in E(G_1)} 12(d_{G_1}(u) + d_{G_1}(v) - 2)d_{G_2}^2(v_i) + \sum_{i=1}^{n_2} \sum_{uv \in E(G_1)} 8d_{G_2}^3(v_i)$$

$$= n_2 RF(G_1) + 12m_2 EM_1(G_1) + 12M_1(G_2)(M_1(G_1) - 2m_1) + 8m_1 F(G_2).$$
(7)

Similarly, we have

$$\sum_{j=1}^{n_1} \sum_{uv \in E(G_2)} (d_{G_1 \times G_2}((u_j, u)(u_j, v)))^3 = n_1 RF(G_2) + 12m_1 EM_1(G_2) + 12M_1(G_1)(M_1(G_2) - 2m_2) + 8m_2 F(G_1).$$
(8)

Summing up Equations (7) and (8), we obtain

$$RF(G_1 \times G_2) = n_1 RF(G_2) + n_2 RF(G_1) + 12(m_2 EM_1(G_1) + m_1 EM_1(G_2)) + 24M_1(G_2)M_1(G_1) - 24(m_1 M_1(G_2) + m_2 M_1(G_1)) + 8(m_1 F(G_2) + m_2 F(G_1)).$$

**Example 1.** As regards, for natural numbers  $n, m, M_1(C_n) = EM_1(C_n) = 4n, F(C_n) = RF(C_n) = 8n, M_1(P_m) = 4m - 6, EM_1(P_m) = 4m - 10, F(P_m) = 8m - 14 and RF(P_m) = 8m - 22,$ 

- 1.  $RF(C_n \times C_m) = 432mn$ .
- 2.  $RF(C_n \times P_m) = 432mn 702n$ .
- 3.  $RF(P_n \times P_m) = 432mn 582(m+n) + 1008.$

**Example 2.** Let T = T[p,q] be the molecular graph of a nanotorus (Figure 1). Then |V(T)| = pq and  $|E(T)| = \frac{3}{2}pq$ . Obviously,  $M_1(T) = 9pq$ ,  $EM_1(T) = 24pq$ , F(T) = 27pq and RF(T) = 96pq. Therefore for a q-multi-walled nanotorus  $G = P_n \times T$  we have  $RF(P_n \times T) = 1280npq - 1738pq$ .

**Theorem 4.** Let  $G_1, G_2, \dots, G_n$  be graphs with  $V_i = V(G_i)$  and  $E_i = E(G_i)$  for  $1 \le i \le n$ , and  $V = V(\bigotimes_{i=1}^n G_i)$  and  $E = E(\bigotimes_{i=1}^n G_i)$ . Then

$$\begin{split} RF(\otimes_{i=1}^{n}G_{i}) &= \sum_{i=1}^{n}RF(G_{i})\prod_{j=1,j\neq i}^{n}|V_{j}| + 12(|E_{n}|EM_{1}(\otimes_{i=1}^{n-1}G_{i}) + \\ &|E(\otimes_{i=1}^{n-1}G_{i})|EM_{1}(G_{n})) - 24(|E_{n}|M_{1}(\otimes_{i=1}^{n-1}G_{i}) + \\ &|E(\otimes_{i=1}^{n-1}G_{i})|M_{1}(G_{n})) + 8(|E_{n}|F(\otimes_{i=1}^{n-1}G_{i}) + |E(\otimes_{i=1}^{n-1}G_{i})|F(G_{n})) + \\ &24M_{1}(G_{n})M_{1}(\otimes_{i=1}^{n-1}G_{i}) + 24\sum_{j=0}^{n-3}\prod_{i=0}^{j}|V_{n-i}|M_{1}(G_{n-i-1})M_{1}(\otimes_{i=1}^{n-i-2}G_{i}) + \\ &\sum_{j=1}^{n-1}\prod_{i=1}^{j}|V_{n-i+1}|[|E_{n-i}|(12EM_{1}(\otimes_{i=1}^{n-i-1}G_{i}) - 24M_{1}(\otimes_{i=1}^{n-i-1}G_{i})) + \\ &8F(\otimes_{i=1}^{n-i-1}G_{i}) + |E(\otimes_{i=1}^{n-i-1}G_{i})|(12EM_{1}(G_{n-i}) - \\ &24M_{1}(G_{n-i}) + 8F(G_{n-i}))]. \end{split}$$

*Proof.* The proof is by induction on n. According on Theorem 3, the statement holds for n = 2. Clearly,  $|E(\bigotimes_{i=1}^{n}G_i)| = |V|\sum_{i=1}^{n}\frac{|E_i|}{|V_i|}$  and  $|V(\bigotimes_{i=1}^{n}G_i)| = \prod_{i=1}^{n}|V_i|$ . One can see that for every graph G,  $E(M_1(G)) = F(G) + 2M_2(G) + 4m - 4M_1(G)$ . Now with applying the Theorem 3 for  $\bigotimes_{i=1}^{n}G_i = \bigotimes_{i=1}^{n-1}G_i \times G_n$  and induction, the proof is completed.

## 5. The composition product of graphs

The composition G[H] of graphs G and H has the vertex set  $V(G[H]) = V(G) \times V(H)$ and (u, x)(v, y) is an edge of G[H] if  $(uv \in E(G))$  or  $(xy \in E(H) \text{ and } u = v)$ . Obviously, |V(G[H])| = |V(G)||V(H)| and  $|E(G[H])| = |E(G)||V(H)|^2 + |E(H)||V(G)|$ .



Figure 1. The graph of a nanotorus

**Theorem 5.** Let  $G_1$  be a graph of order  $n_1$  and size  $m_1$  and let  $G_2$  be a graph of order  $n_2$  and size  $m_2$ . Then

$$\begin{aligned} RF(G_1[G_2]) &= RF(G_1)n_2^3 + m_1(RF(G_2) + R\overline{F}(G_2)) + 8m_1n_2^3 + \\ &\quad 4n_2m_1(EM_1(G_2) + E\overline{M_1}(G_2)) + 8n_2^2m_1(M_1(G_2) + \overline{M_1}(G_2) - 2) + \\ &\quad 2n_2^2EM_1(G_1)(M_1(G_2) + \overline{M_1}(G_2) - 2 + 2n_2) + \\ &\quad 2n_2(M_1(G_1) - 2m_1)(EM_1(G_2) + E\overline{M_1}(G_2) + 4n_2^2) + \\ &\quad 8m_2n_2^3F(G_1) + RF(G_2) + 12n_2^2M_1(G_1)(M_1(G_2) - 2m_2) + \\ &\quad 12n_2m_1EM_1(G_2). \end{aligned}$$

*Proof.* Suppose  $V(G_1) = \{u_1, ..., u_{n_1}\}$  and  $V(G_2) = \{v_1, ..., v_{n_2}\}$ . We partition the edges of  $G_1[G_2]$  into two subsets  $E_1$  and  $E_2$ , as follows: Set  $L = \{e = (u, x)(v, y) \mid uv \in E(G_1)\}$  and  $E_i = \{(u_i, x)(u_i, y) \mid xy \in E(G_2)\}$  for  $1 \le i \le n_1$ . Clearly  $(\bigcup_{i=1}^{n_1} E_i) \cup L$  is a partition of  $V(G_1[G_2])$ . Let  $e = (u, x)(v, y) \in L$ . Then  $d_{G_1[G_2]}(u, x) = n_2 d_{G_1}(u) + d_{G_2}(x)$  and  $d_{G_1[G_2]}(u, x)(v, y) = n_2(d_{G_1}(u) + d_{G_2}(v)) - 2 + d_{G_2}(x) + d_{G_2}(y)$ . In this case we notice that xy can be adjacent in  $G_2$  or not.

$$\begin{split} \sum_{e=(u,x)(v,y)} \sum_{e \in L} d_{G_1[G_2]}^3(e) &= \sum_{e=(u,x)(v,y)} [n_2(d_{G_1}(u) + d_{G_1}(v) - 2) - 2 + \\ & d_{G_2}(x) + d_{G_2}(y) + 2n_2]^3 \\ &= \sum_{\substack{e=(u,x)(v,y)\\e \in L}} [n_2^3(d_{G_1}(u) + d_{G_1}(v) - 2)^3 + \\ & (d_{G_2}(x) + d_{G_2}(y) - 2)^3 + 8n_2^3 + \\ & 4n_2(d_{G_2}(x) + d_{G_2}(y) - 2)^2 + 8n_2^2(d_{G_2}(x) + d_{G_2}(y) - 2) + \\ & 2n_2^2(d_{G_1}(u) + d_{G_1}(v) - 2)^2(d_{G_2}(x) + d_{G_2}(y) - 2 + 2n_2) + \\ & 2n_2(d_{G_1}(u) + d_{G_1}(v) - 2)((d_{G_2}(x) + d_{G_2}(y) - 2)^2 + 4n_2^2)] \\ &= RF(G_1)n_2^3 + m_1(RF(G_2) + R\overline{F}(G_2)) + 8m_1n_2^3 + \\ & 4n_2m_1(EM_1(G_2) + E\overline{M_1}(G_2) - 2) + \\ & 2n_2^2EM_1(G_1)(M_1(G_2) + \overline{M_1}(G_2) - 2 + 2n_2) + \\ & 2n_2(M_1(G_1) - 2m_1)(EM_1(G_2) + E\overline{M_1}(G_2) + 4n_2^2). \end{split}$$

Let  $e = (u_i, x)(u_i, y) \in E_i$ . Then

$$d_{G_1[G_2]}(u_i, x)(u_i, y) = 2n_2 d_{G_1}(u_i) - 2 + d_{G_2}(x) + d_{G_2}(y)$$

and we have

$$\sum_{e=(u,x)(u,y), e \in E_{i}} d_{G_{1}[G_{2}]}^{3}(e) = \sum_{\substack{e=(u,x)(u,y)\\e \in E_{i}}} [2n_{2}d_{G_{1}}(u) - 2 + d_{G_{2}}(x) + d_{G_{2}}(y)]^{3}$$

$$= \sum_{\substack{e=(u,x)(u,y)\\e \in E_{i}}} [8n_{2}^{3}d_{G_{1}}^{3}(u) + (d_{G_{2}}(x) + d_{G_{2}}(y) - 2)^{3} + 12n_{2}^{2}d_{G_{1}}^{2}(u)(d_{G_{2}}(x) + d_{G_{2}}(y) - 2) + 6n_{2}d_{G_{1}}(u)(d_{G_{2}}(x) + d_{G_{2}}(y) - 2)^{2}$$

$$= 8m_{2}n_{2}^{3}F(G_{1}) + RF(G_{2}) + 12n_{2}^{2}M_{1}(G_{1})(M_{1}(G_{2}) - 2m_{2}) + 12n_{2}m_{1}EM_{1}(G_{2}).$$

Therefore

$$\begin{split} RF(G_1[G_2]) \;&=\; \sum_{e \in L} (d_{G_1[G_2]}(e))^3 + \sum_{e \in E_i} (d_{G_1[G_2]}(e))^3 \\ &=\; RF(G_1)n_2^3 + m_1(RF(G_2) + R\overline{F}(G_2)) + 8m_1n_2^3 + \\ &\quad 4n_2m_1(EM_1(G_2) + E\overline{M_1}(G_2)) + 8n_2^2m_1(M_1(G_2) + \overline{M_1}(G_2) - 2) + \\ &\quad 2n_2^2EM_1(G_1)(M_1(G_2) + \overline{M_1}(G_2) - 2 + 2n_2) + \\ &\quad 2n_2(M_1(G_1) - 2m_1)(EM_1(G_2) + E\overline{M_1}(G_2) + 4n_2^2) + \\ &\quad 8m_2n_2^3F(G_1) + RF(G_2) + 12n_2^2M_1(G_1)(M_1(G_2) - 2m_2) + \\ &\quad 12n_2m_1EM_1(G_2). \end{split}$$

# 6. The tensor product of graphs

The Tensor Product  $G \otimes H$  of graphs G and H has the vertex set  $V(G \otimes H) = V(G) \times V(H)$  and (u, x)(v, y) is an edge of  $G \otimes H$  if  $uv \in E(G)$  and  $xy \in E(H)$ . Obviously,  $|V(G \otimes H)| = |V(G)||V(H)|$ ,  $|E(G \otimes H)| = 2|E(G)||E(H)|$  and  $d_{G \otimes H}(u, x) = d_G(u).d_H(x)$ .

**Theorem 6.** If  $G_i$  is a graph of order  $n_i$  and size  $m_i$  for i = 1, 2, then

$$RF(G_1 \otimes G_2) = M_1^4(G_1 \otimes G_2) - 6F(G_1 \otimes G_2) + 12M_1(G_1 \otimes G_2) + 3M_2(G_1 \otimes G_2)M_1(G_1 \otimes G_2) - 12M_2(G_1 \otimes G_2) - 8m_1m_2$$

*Proof.* For any edge  $e = (u, x)(v, y) \in E(G_1 \otimes G_2)$ , we have

$$d_{G_1 \otimes G_2}(e) = d_{G_1}(u) \cdot d_{G_2}(x) + d_{G_1}(v) \cdot d_{G_2}(y) - 2.$$

By definition, we have

$$\begin{split} RF(G_1 \otimes G_2) &= \sum_{uv \in E(G_1)} \sum_{xy \in E(G_2)} (d_{G_1 \otimes G_2}((u, x)(v, y)))^3 \\ &= \sum_{uv \in E(G_1)} \sum_{xy \in E(G_2)} (d_{G_1}(u).d_{G_2}(x) + d_{G_1}(v).d_{G_2}(y) - 2)^3 \\ &= \sum_{uv \in E(G_1)} \sum_{xy \in E(G_2)} [d_{G_1}^3(u)d_{G_2}^3(x) + d_{G_1}^3(v)d_{G_2}^3(y) - 6d_{G_1}^2(v)d_{G_2}^2(y) + \\ &\quad 12d_{G_1}(v)d_{G_2}(y) - 8 + 3d_{G_1}^2(u)d_{G_2}^2(x)d_{G_1}(v)d_{G_2}(y) - \\ &\quad 6d_{G_1}^2(u)d_{G_2}^2(x) + 3d_{G_1}(u)d_{G_2}(x)d_{G_1}^2(v)d_{G_2}^2(y) - \\ &\quad 12d_{G_1}(u)d_{G_2}(x)d_{G_1}(v)d_{G_2}(y) + 12d_{G_1}(u)d_{G_2}(x)] \\ &= M_1^4(G_1 \otimes G_2) - 6F(G_1 \otimes G_2) + 12M_1(G_1 \otimes G_2) + \\ &\quad 3M_2(G_1 \otimes G_2)M_1(G_1 \otimes G_2) - 12M_2(G_1 \otimes G_2) - 8m_1m_2. \end{split}$$

### References

- [1] H. Aram and N. Dehgardi, The general zagreb coindices of graph, Submitted.
- [2] H. Aram, N. Dehgardi, and A. Khodkar, The third abc index of some graph operations, Bull. Int. Combin. Math. Appl. 78 (2016), 69–82.
- [3] J. A. Bondy and U. S. R. Murty, *Graph theory with applications*, Macmillan Press, 1976.
- [4] K.C. Das, A. Yurttas, M. Togan, A.S. Cevik, and I.N. Cangul, *The multiplicative zagreb indices of graph operations*, J. Inequal. Appl. (2013), 10.1186/1029–242X–2013–90.
- [5] N. Dehgardi, A note on revised szeged index of graph operations, Iranian J. Math. Chem., to appear.
- [6] B. Furtula and I. Gutman, A forgotten topological index, J. Math. Chem. 53 (2015), no. 4, 1184–1190.
- [7] I. Gutman and N. Trinajstić, Graph theory and molecular orbitals, total π-electron energy of alternant hydrocarbons, Chem. Phys. Lett. 17 (1972), no. 4, 535–538.
- [8] Y. Hu, X. Li, Y. Shi, T. Xu, and I. Gutman, On molecular graphs with smallest and greatest zeroth-order general randić index, MATCH Commun. Math. Comput.Chem. 54 (2005), 425–434.
- [9] M.H. Khalifeh, H. Yousefi-Azari, and A.R. Ashrafi, A unified approach to the extremal trees for different indices, MATCH Commun. Math. Comput. Chem. 54 (2005), 195–208.
- [10] \_\_\_\_\_, The hyper-wiener index of graph operations, Comput. Math. Appl. 56 (2008), no. 5, 1402–1407.
- [11] \_\_\_\_\_, The first and second zagreb indices of some graph operations, Discrete Appl. Math. 157 (2009), no. 4, 804–811.
- [12] X. Li and H. Zhao, Trees with the first three smallest and largest generalized topological indices, MATCH Commun. Math. Comput. Chem. 50 (2004), 57–62.
- [13] A. Miličević, S. Nikolić, and N. and Trinajstić, On reformulated zagreb indices, Mol. Divers. 8 (2004), no. 4, 393–399.